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pCO2 24.6 | mmHg WBC 77 10~2/0L MCV 84.5 |fl
POz 59.6 | mmHg RBC 450 1074/l | |[MCHC | 326 |%
HCOs3~ 21.4 mmol/L Hb 2.1 |g/dL YFHRER 87.0 | %
BE 0.3 mmol/L Ht 375 | % "J\/}\”ISR 11.0 :A:
Lac 1.2 mmol/L PIt 13.8 | 1074/0L igﬁ 100..28 OZ

HE4 REGRZm mE 5 REGRZ

ZOMIMBHAREDERZIERUET EL > R DiERZERUE T
REBOZBHTERILTNSTL & Sh ? PRRAIAT < 20y
(10%3) (393)
T-Bil | 1.20 |mg/dL
BUN | 262 |mg/dL | [AST | 107 Ut CRP [ 49.4 [mg/dL
Cre | 1.80 |mgdL | |AT 21 UL PCT [ 52.6 |ng/mL
Glu 128 | mgy/dl LD 440 | U/L PT-INR | 1.16
Na 139 |meq/L | |YCT | 9 UL FDP | 28.9 [ua/mL
K 59 [meqL | |CK 2747 |U/L DD 10.5 | pg/mL
Cl 101 | mEq/L TP 6.3 |g/dL
Alb 35 |g/dL
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